B is INCORRECT about Inertin frames of reference? (a) A Lame ol refer
r I is called Inertia frame of reference () The earth is approximately angic
anding aiveraft is not an Incrtia frame of relerence (d) An inertia frame of reference must

seending lifl with an acceleration of 0.5m/5%, if the spring balance reading is 25N, (Take g=10m/s%). (a) +.28kg
2.58ky () 23.8kg (d) 0.238kg e
,34_- [Fin question 34. the 1ilt ascends with constant velocity of 0.2m/s, caleulate the mass of (he objeet (a) 25kg (b)
2.5kg () 24.4kg, (d) 25.5kg ‘
33. Which of the following expressions below do not 1+ nresent the Impulse of force (a) fcr‘z Fdt = pp; dp:(4) ¢85
t2 :
J-“ et (C) [‘_q': Pl - (d) J = P.Z!l BE P|l|
36. Caleulate the final horizontal momentum of a 1ennis ball of mass 0.05kg initially travelling rightward with a

velocity of 20m/s; struck to move at 12m/s at 60° upward to the harizontal. (a) -0.3kgm/s (b) 0.624kpm/s (c) -
0.62<tkgm/s (d) 0.3kgm/s . : |

377.1((1:11;:111;1!(: the horizontal momentum change in question 36 (a) -1.3kgm/s (b) 0.7kgm/s (c) I 3kgni/s ) ~
Tkgm/s -

38. \Nhich Or IhC lb“(l\\-illg i.\ hl() I (?OI(K]:‘(?T‘H})(HH il"'\]r'-"li"-l CH“I'.\“)”,-, l”) V;\ = _n_j‘:l___ V[ (h) ’.\:l = I (“) _l-\, A
Mg trM K ‘ K
X M A ;] ?
B (d) My = "VAV—I -+ vy e ;

- il
59 C_alculare ll}c Young. modulus of a body of cross sectional arca 0.2 whose original length is 1.0m v hich
experiences an increase in lenpth of 2.0x 16" m when a force of SN was applicd to il. Calenlate its original lenpth
(@) 1.25x107 (b) 1.25x 10" (¢) 1.25x10" () 1.25x10° : i
10). Cn‘lculntc the compressibility K of a piven gas orizinal volume is 250em’ and expeticnees o volume chiang ¢ of
LSem™ when a pressure change of 0.5 was applicd o it () L2x10 '1Pa () 1.2 10 (¢ -Ih2 L= I, i) -
125107y R

SECTION L (THEORY)

I. State 4 applications ol Physics in Apriculture : : :

2. A uniform beam 6m long and weighing dkg rests on supports P and (') placed lefi and right ‘.3!‘1‘f']'()l11 cach ed of
the beam. Weights of mass 10kg and 8kg arc placed near P and Q respectively, right at cach end of the bean.1

Calculate the reactions al P and Q. - 2 :
3(a) A picce of solid stccl sinks, but a ship made of steel floais. Explain,

(b) Describe an experiment (o verify the coefficient of kinetic iriction in the laboratory:.

4. Locate the centre of mass of three particles, m= Skg, m, = 7kg and m; = 8kg located at (-1,2,3), (2.4.6) an) (e

2,5) respectively, coordinates in metres. :
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